3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

Available in 4 versions with 2 and 4 pole motors

Monobloc with extended motor shaft

'll 35 Monobloc with standard motor and

S 3
=
8 3LS | rigidjoint

4 3P On base, with standard motor
' 3LP and flexible coupling

3SF Pump with

3|_S|: bare shaft

SPECIAL VERSIONS
e Also available with efficiency 1 motor (3S Series)

Standardised centrifugal electric pumps built in stainless steel AlSI 304
(3 Series) and AlISI 316L (3L Series).

APPLICATIONS

e Water supply to civil, agricultural and industrial plants
e Pressure boosting

e Fire-fighting, heating systems and air-conditioning

e Moving industrial liquids

e |rrigation

e Refrigeration towers

e Swimming pools

e Emptying

¢ Washing plants

TECHNICAL DETAILS
e Can also work in vertical position

TECHNICAL DATA

e Maximum working pressure: 10 bar

e Maximum temperature of the liquid:
-10°C + +90°C
-10°C = +110°C (L-H-HS versions)
-20°C = +120°C (E version)

e Self-ventilated 2 and 4 pole asynchronous motor

e Class of insulation F (B for high tempertaures)

e [P 55 protection rating

e 230V £10%, 50Hz single phase voltage, three phase voltage
220+240/380+415V = 5% (up to 4 kW included), 50Hz, three phase
voltage 380+415/660+720V +5% (5.5 kW and over), 50Hz

e Protection is user's responsibility

MATERIALS
e Pump body and seal housing disc:
- AISI 304 for 3 Series  32-125/160/200
40-125/160/200
50-125/160
65-125/160/200
- AISI 316L for 3L Series 32-125/160/200

40-125/160/200
50-125/160
65-125/160/200
- microcast AlSI 316 for 3L Series 65-250
80-160/200/250
e Impeller in:

- AlSI 304 for 3 Series  32-125/160/200
40-125/160/200
50-125/160

- AlSI 316L for 3L Series 32-125/160/200

40-125/160/200
50-125/160
- microcast AISI 316 for 3 Series  65-125/160/200
3L Series 65-125/160/200
65-250
80-160/200/250
* Mechanical sealing in:
- Carbon/Ceramic/NBR for 3 Series 32-125/160/200
40-125/160/200
50-125/160
65-125/160/200
- SiC/SiC/FPM for 3L Series 32-125/160/200
40-125/160/200
50-125/160
65-125/160/200/250
80-160/200/250
- Special mechanical seals available on request

ACCESSORIES (on request)

e Counter-flanges available in the following materials:
- galvanised
- AISI 304
- AlSI 316

Your Life, our Quality. Worldwide.

Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
IDENTIFICATION CODE - 2 Poles
|3SERIES|| L ||M|| F || H||65|-|160|/|22||M|
SINGLE PHASE
MOTOR POWER IN KW
125
[MPELLER DIAMETER 160
200
250
32
40
DISCHARGE SIZE 50
65
80
H
OPTIONAL VERSION HS
HW
HSW
HYDRAULIC PART E
MODEL ,\S/]
AlSI 316 VERSION P
PuMP NAME
IDENTIFICATION CODE - 4 Poles
[3SeRiEs | [T | (W ][ F ][4 ][ A][e] - 0] / [2][ WM ][R]
REDUCED IMPELLER
SINGLE PHASE
MOTOR POWER IN KW
125
IMPELLER DIAMETER 160
200
250
32
40
DISCHARGE SIZE 50
65
80
0 H
PTIONAL VERSION S
HW
4 POLE MOTOR HSEW
HYDRAULIC PART
M
MOoDEL S
P
AlISI 316 VERSION
PUMP NAME

Your Life, our Quality. Worldwide. 66 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3 SERIES PERFORMANCE RANGE at 2900 min-' (according to I1SO 9906 Attachment A)

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
— 350
100
HEERA — 300
65-250/37 [T 0\?50
80 L L RS — 250
H 555250/75._ R " H
[m] DR I S AR o Y A ~ NN, [#t]
60 \ \20?/\5? TN 4\0\?‘00 Tinn 50\?00/; s 100\%0 2
™~ e [ | 5 ~
50 3‘ ‘ 2, \.__;LLLH S 65 20055 &) AN
2-200/4,0 T TTT TR 2o 200 =] 5 200N \Y/HHIE
m R 79 775 P 7185 | 150
40 i s S0 TN BEPNSCO) B G ZN
32-200 A i ~ W NI @, 7 DR 7,,%; \
L /3.0 40\20 E = 2o X 1 7, ) ‘;::,%
21007 RN SES SSEE NS SSESE NSNS Ean T SR
3 /22 058G PSR T NS AN
::EE_MJL i 0/310\ \; ‘ 0/) PPN 0/,/777{1‘ \\ /Bb/
3‘2\‘760 /1.5 N ) SING 2 /6‘%‘\ N[ N £
I N R VNS AV 75
20 I NS N 20N \ AN
32-125) 1 NI N N1 I\
/I N XN R NG\
N 22X, SNE BN N BN
15 N NIINCEPNET Y BN - 50
= L A
N HEAN S9N 2\
K23, NERS \ 2 - 40
SVEEANRAW I\
10 \l’ AR R
9 \ o )\ ] — 30
8
- 25
6 —20
/ [
. / [/ /
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T T T T T T 11 1 T T 1 | T | |
6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150 200 300
Q [m /h]
Versions 3M 35 3P 3LM 3LS 3LP
32-125 v v v v vV vV
32-160 v v v v v v
32-200 v v v v v v
40-125 v v v v v v
40-160 v v v v v v
40-200 v v v v v v
50-125 v v v v v v
Pump 50-160 v v v v v v
50-200 v v v v v v
65-125 v v v v v v
65-160 v v v v v v
65-200 v v v v v v
65-250 - - - - ° °
80-160 - - - ° ° °
80-200 - - - - ° °
80-250 - - - - ° °

v = Models also available in the H and HS version for 32, 40, 50, 65-125/160/200
* = Models also available in the H and E version for 65-250, 80

Your Life, our Quality. Worldwide. 67 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

32-40-50 PERFORMANCE TABLE

P, Q=Flow rate
Model I/min 100 | 150 200 300 333 360 400 450 500 600 700 800 | 1000 | 1200
[HP] | [kW] |m3h 6 9 12 18 20 22 24 27 30 36 42 48 60 72
H=Head [m]
32-125/1.1(M) 1,5 11 21,01 199 18,4 141 12,0 - -
32-160/1.5(M) 2 15 280 265 | 245 19,2 17,0
32-160/2.2(M) 3 2,2 355] 340 | 320 | 270 | 250
32-200/3.0 4 3 42,0[ 400 | 375 | 310 | 280 -
32-200/4.0 55 4 535] 520 | 495 435 | 40,5 38,0
32-200/5.5 75 5,5 690 675 | 650 | 585 - - - -
32-200/7.5 10 7,5 690| 675 | 650 [ 585 [ 555 | 530 | 490 | 440 - - -
40-125/1.5(M) 2 15 - - 19,0 17,6 17,0 | 16,5 15,7 14,5 13,2 10,3 7,0
40-125/2.2(M) 3 2,2 255 | 240 | 235 | 230 [ 220 | 210 | 195 164 | 13,0
40-160/3.0 4 3 295 | 275 | 270 | 265 [ 255 | 240 | 225 | 200 | 170
40-160/4.0 5,5 4 38,5 37,0 36,0 355 345 33,0 32,0 29,0 25,5
40-200/5.5 75 55 45,5 440 | 430 | 425 41,0 39,5 38,0 35,0 31,0
40-200/7.5 10 75 570 | 555 | 550 | 545 | 535 | 525 | 51,0 | 475 | 440
40-200/11 15 11 710 | 700 | 70,0 | 695 | 685 | 675 | 660 | 630 | 590 - -
50-125/2.2(M) 3 2,2 - - - - 17,5 17,0 16,3 14,9 134 11,7 8,0 -
50-125/3.0 4 3 - - - - - - 20,5 20,0 19,6 18,4 17,0 154 11,8 8,0
50-125/4.0 55 4 - - - - - - 26,0 25,5 25,0 24,0 22,5 21,5 17,9 14,0
50-160/5.5 7,5 55 - - - - - - 310 | 305 | 300 [ 285 | 270 | 255 | 220 | 18,0
50-160/7.5 10 7.5 385 | 380 | 375 | 360 | 350 | 335 | 300 | 260
50-200/9.2 12,5 9,2 - - 500 | 490 [ 475 | 455 | 405 | 34,0
50-200/11 15 11 56,0 | 550 | 540 | 520 | 480 | 420
50-200/15 20 15 700 | 690 | 680 [ 660 | 620 | 57,0
(M) Single phase version for 3M Series only
65-80 PERFORMANCE TABLE 2 Poles
P, Q=Flow rate
Model [/min 600 | 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
[HP] | [kW] Im*h 36| 42 54 78 90 102 | 114 | 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
H=Head [m]
65-125/4.0 55 4 1981 190 | 173 | 133 | 11,0 | 86 | 6,3 - -
65-125/5.5 75 | 55 -1 240 | 222 | 180 [ 157 | 133 ] 108 | 8,0 -
65-125/7.5 10 7,5 295 1278 | 235 | 21,1 [ 187 | 16,1 | 134 | 12,0
65-160/7.5 10 75 -1 300 [ 286 | 248 | 225 | 199 | 171 | 142 -
65-160/9.2 1251 92 -1 345 1328 288 12651239 ] 21,1 1 183 | 168 -
65-160/11 15 11 -1 385371 1331]309 | 284258230215 200
65-160/15 20 15 455 | 440 | 40,0 | 378 | 353 | 326 | 296 | 28,0 | 26,5
65-200/15 20 15 -1 510 490 | 440 | 415 ] 384 | 353 [ 31,8 | 30,0 -
65-200/18.5 25 18,5 -1 585 [ 565 [ 5151490 | 460 | 430 | 39,7 | 380 | 36,3
65-200/22 30 22 -1 655 | 64,0 | 595 | 570 | 540 | 51,0 | 480 | 46,5 | 45,0 -
65-250/30 40 30 - - 770 | 735 ] 710 | 680 | 645 | 60,0 [ 575 | 550 | 52,0 -
65-250/37 50 37 - - 880 | 855 | 830|805 | 775|740 | 720 | 70,0 | 67,5 | 65,0 - -
80-160/11 15 11 - - - 273 1264 | 254 | 242 | 230 | 224 | 218 | 21,1 | 204 | 164 | 125 -
80-160/13 1751 13 -1 - - 305|297 | 288 | 27,7 | 26,5 | 259 | 253 | 246 | 240 [ 20,1 | 165 | 145
80-160/15R 20 15 -l - - 305 297 | 288 | 27,7 | 265 | 259 | 253 | 246 | 240 | 20,1 | 165 | 145 -
80-160/15 20 15 - - - 340 | 333|325 (315305 ]300 294 | 288 | 281|244 | 210 ] 191|170 -
80-160/18.5 25 | 185 - - - 390 | 384 | 376 | 36,7 | 357 | 352 | 347 | 341 | 335 (300 | 264 | 244 | 223 | 20,0
80-200/22 30 22 -l - - 48,0 | 470 | 455 | 445 | 430 | 420 | 410 | 40,0 | 390 | 332 | 27,8 | 25,0 - -
80-200/30 40 30 -l - - 58,5 | 58,0 | 57,0 | 56,0 | 545 | 54,0 | 530 | 520 | 510 | 465 | 415 | 390 [ 36,1 | 33,0
80-200/37 50 37 - - - 64,0 | 630 | 620 | 61,0 | 595 | 59,0 | 580 | 575 | 56,5 [ 51,5 | 470 | 445 | 415 | 385
80-250/37 50 37 - - - 7151705 | 685 | 665 | 640 | 630 | 615 ] 60,0 | 585 | 485 | 38,0 - - -
80-250/45 60 45 - - - 825 ] 815|800 | 780 | 760 | 750 | 735|725 | 71,0 | 620 | 53,0 | 48,0 | 42,5 -
80-250/55 75 55 - - - 9351 92519151900 | 85 | 875|865 | 855 | 840 [ 765 | 685 | 645 | 60,0 | 550

Your Life, our Quality. Worldwide. 68 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M 32, 40, 50, 65 - up to 11 kW 2 Poles
B
D2
P2
A
& 7-918
T 7-918
e & 1A
| //\282\ m&
- | = | A K | T | \
1R s <
1 | . -
N\ & _ |
il DX |7
Fig. 1 : : : PO
R c ‘ ‘ 4-915
W 1 N1
St M ol PN N2
Q=
1 |
L' 1 I %
Fig. 2 ——
25 W ‘
M
DIMENSIONS TABLE
Dimensions [mm] Weiaht
Model (0|0 |00 Z |0|o|0|0 H3 Vi1 V2 Ikgl
DN1/ P1| K1 /D1|51|[1]|[2] [DN2/ P2 | K2 |D2|S2 |Fig.. H |H1/H2|[3]|[4]| R |W | M N1|N2| A | B C [3] [3] [4]
32-125/1.1 (M) | 50 [ 95 [125]165] 16 | 4 | - |32 [75]100[140] 14 | 1 [252]112[140]124]141) 80 | 70 [114]140]{190[213[408[219+230] - PG 13,5|M20x1,5/ 19,6
32-160/1.5(M) | 50 [ 95 [125]165| 16 | 4 321 75[100[140] 14 | 1 1292]132[160|124|141] 80 | 70 [118]190(240|254]408219+230, - PG 13,5|M20x1,5]22,5
32-160/2.2 (M) | 50 | 95 |125]165] 16 | 4 32 |175(100(140] 14| 1 [292]132]160|124[141] 80 | 70 |118]190]240|254/408]219+230 - PG 13,5|M20x1,5| 24,6
32-200/3.0 50|95 [125]165| 16| 4 32 1751]100/140| 14 | 1 |340]/160/180(124] - | 80 | 70 [119]190|240|296|433|244+255 - PG 13,5 - 32,8
32-200/4.0 50 195 [125/165| 16 | 4 32175[100[140] 14 | 1 |340[160]180|141] - |80 |70 [119]190/240|296/454| 253 - PG 16 - 39,5
32-200/5.5 50195 [125/165| 16 | 4 32175[100[140] 14| 1 |340[160[180|150] - |80 |70 [119]190(240(296|475| 275 |PG13,5| PG 16 - 48,5
32-200/7.5 50|95 [125]165/ 16| 4 32 |175(100(140] 14| 1 |340(160[180|150| - |80 | 70 |119]190(240(296|517| 275 |PG13,5] PG 16 - 57,0
40-125/1.5(M) | 65 [115]145]185] 16| 4 40180 [110]150] 14 | 1 |252]112]140]124|141] 80 | 70 [114]160]210|213]408|219+230 - PG 13,5 |M20x1,5] 20,1
40-125/2.2 (M) | 65 [115]145[185| 16 | 4 40180 [110[150] 14| 1 [252|112]140[124]141) 80 | 70 [114/160|210|213]408[219+230 - PG 13,5 |M20x1,5]22,7
40-160/3.0 65 [115/145[185] 16| 4 40180 [110[150] 14| 1 1292]132|160]124| - |80 | 70 [118|190|240(254|433[244+255] - PG 13,5 - 28,0
40-160/4.0 65 [115/145[185] 16| 4 40180 |110[150] 14 | 1 [292]132[160[141] - [ 80 | 70 |118]190|240|254|454| 253 - PG 16 - 35,1
40-200/5.5 65 |115]/145[185] 16 | 4 40180 |110]150] 14 | 2 |340]/160[180(150| - [100] 70 [115]212|265]296]495| 275 |PG13,5| PG 16 - 48,8
40-200/7.5 65 |115]/145[185] 16 | 4 40180 |110]150] 14 | 2 |340[160]180]150 100] 70 [115]212|265]296|537| 275 |[PG13,5| PG 16 - 56,2
40-200/11 65 |115/145[185] 16 | 4 40180 |110]150] 14 | 2 |340[160[180(178| - [100] 70 [115]212]265|296/594| 359 |PG 13,5| PG 21 - 67,5
50-125/2.2 (M) | 65 |115]145[185] 16| 4 50 | 95 [125]165| 16| 2 [292]132/160]124]141]100| 70 |114]190|240(254|428]219+230 - PG 13,5 [M20x1,5] 28,1
50-125/3.0 65 [115/145]185] 16| 4 50 |95 [125/165| 16 | 2 [292]132]160]124| - |100] 70 |114]190(240|254|453(244+255] - PG 13,5 - 28,6
50-125/4.0 65 [115[145]185] 16| 4 50 | 95 [125|165] 16 | 2 [292|132]160[141] - [100] 70 |114]190(240|254|474| 253 - PG 16 - 35,2
50-160/5.5 65 |115]145[185] 16 | 4 50|95 [125]165] 16| 2 [340/160]180]150 100] 70 [115]212|265]296]495| 275 |[PG13,5| PG 16 - 49,1
50-160/7.5 65 [115[145/185| 16 | 4 50 | 95 [125[165] 16 | 2 |340]160[180]150 100] 70 [115]212]265]296(537| 275 |PG 13,5| PG 16 - 55,5
50-200/9.2 65 [115/145]185] 16| 4 50 |95 [125/165| 16 | 2 |360/160]200]178 100] 70 [115|212|265(296]594| 359 |PG 13,5| PG 21 - 61,7
50-200/11 65 [115/145[185] 16| 4 | - | 5095 |125]165| 16 | 2 |360(160]200|178 100] 70 [115|212|1265(296]594| 359 |PG 13,5| PG 21 - 67,5
65-125/4 80 1134/160(200] 18| 8 | 4 | 65|115/145]185| 16 | 2 [340]160]180[141 1001 95 [140|212(280|254]|474| 253 - PG 16 - 40,0
65-125/5,5 80 |134]160(200] 18| 8 | 4 | 65 |115|145/185] 16 | 2 |340(160]180]150 100] 95 [140(212|280(2541495| 275 |PG13,5| PG 16 - 52,0
65-125/7,5 80 [134/160(200| 18 | 8 | 4 | 65 |115]145[185] 16 | 2 |340]160]180]150 100] 95 [140(212|280]254]537] 275 |PG13,5| PG 16 - 58,5
65-160/7,5 80 [134/160(200] 18 | 8 | 4 | 65[115/145]185] 16| 2 |360[160]200[150] - [100] 95 |140]212|280|296/537| 275 |PG13,5| PG 16 - 62,0
65-160/9,2 80 [134/160(200] 18| 8 | 4 | 65[115/145]185] 16| 2 [360]160]/200[178] - [100] 95 |140(212|280]296(594| 359 |PG 13,5| PG 21 - 67,0
65-160/11 80 [134/160(200] 18| 8 | 4 | 65[115/145]185] 16| 2 |360]160]/200[178] - [100] 95 |140(212|280]296(594| 359 |PG 13,5| PG 21 - 75,6

[1] Standard [2] On request
[3] For three phase only  [4] For single phase only

Your Life, our Quality. Worldwide. 76 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)M 50, 65 - 15 + 22 kW 2 Poles

V\)V\)

2

(<o)

6

DN2

l

(|

\
|
b
|
223
&
e %t
~N
|
‘@
o
H2
H

‘ZE{F%“ ]
|-
[ HE
. ‘ —— )
— =iz
H =4
e | /
() a [ ‘ | —) I I |
1 £ 15 X J
. ‘ = o T %\ ) _
B d_1m — NG -
s - Fia. 1 u &
ST 5 BN oo \
N ﬁi& o : o Jﬁ/ // é\%b
HE : :
100 499.5 20 ‘ ‘ 4-915
25 W L4 N1
M N2
3 o 7-918
4-918 ya /

D= | &

A

/@\i
=
;%
N

A\ e
o E 2&\\
\ L ~N
I U L T
i == DNT
! c 254 25
- " -
4-914 7
! L4 -

L2

DIMENSIONS TABLE

Dimensions [mm]
Z 0| 0|00 "r'“']“
DN2| P2 | K2 | D2 |Fig.| H |H1 | H2 | W | M | N1 | N2 | B C | L1 |L2]|L3 |14 kg

Model 0| 0| 0| @
DN1| P1 | K1 | D1 | S1
85

=
~
~
<

1
50-200/15 65 | 115 ] 145 | 1 16 | 4 | - [ 5095 | 125]165] 2 | 360 160|200 | 70 | 115212 | 265 | 723 |190,5] 254 [ 318 | 65 | 304 /96,0
05-160/15 80 | 13411601200 18 | 8 | 4 | 65 | 115145 ]185] 2 [360 | 160 | 200 | 95 | 140 | 212 | 280 | 732 [199,5] 254 | 318 | 65 | 304 |93,0
65-200/15 80 | 1341160200 18 | 8 | 4 [ 65 | 115 145]185| 1 |405|180|225[ 95 | 140250 320|732 | - | 254|314 ] 60 | 345 [114,0
65-200/18.5 | 80 | 134 1160 | 200 [ 18 | 8 | 4 | 65 | 115145185 | 1 405|180 |225] 95 | 140|250 | 320 | 732 | - [254[314 | 60 | 345 [127,0
65-200/22 80 | 1341160200 ] 18 | 8 [ 4 | 65 [115]145]185] 1 |405] 180|225 95 [ 140|250 1320|732 | - [254 314 60 | 345 ]136,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 77 Commercial



3 - 3L SERIES

| CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LM 80-160 - 11 =+ 13 kW 2 Poles
9 200
8135 147 173
DN&Q PG13.5 2-G3/8
8-018
D [Te)
| E g
. A=Y
250
320
619
Weight
80-160/11: 94 kg
80-160/13: 97 kg
3LM 80-160 - 15 = 18,5 kW 2 Poles
¢ 200
6 135 147 173
PG21
DN8Q B-¢18 2-63/8
N PG21
o~
M w0
= & n
Il o S
o~ M s
2 < 2180
o
o0
QJ -
1
4-915] || 65
250
320
757
‘ 345
8t ‘4* f#ji}}i
Weight
80-160/15: 130 kg 229015 A
80-160/18.5: 143 kg B B ) ) N -

Your Life, our Quality. Worldwide. 78 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 32, 40, 50 - up to 2.2 kW 2 Poles

S2

4-018

H2

Tl

D
P
a | | o
T
e

Bl
I}
33

&

DIMENSIONS TABLE

Dimensions [mm] Weight
Model Dﬁ1 I?‘I I?I I?I D?IZ P% KgZ DQZ S2 |Fig.| H |H1 | H2 | H3| R | M | N1 | N2 | A B C V1 V2 [kgl
32-125/1.1 50 | 95 [ 1251165 | 32 | 75 [ 100140 | 14 | 1 [252 112 1140|129 | 80 | 114|140 | 190 | 213|430 | 174 | M25x1,5 | M20x1,5 |23,1
32-160/15 50 | 95 [ 125] 165 32 | 75 [ 100|140 14 | 1 [292]132]160| 138 ] 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1,5 | M20x1,5 |28,5
32-160/2.2 50 [ 95 [ 125]165| 32 | 75 [ 100|140 14 | 1 |292 132|160 | 138 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1,5 | M20x1,5 |32,4
40-125/1.5 65 | 1151451185 40 | 80 [ 110150 | 14 | 1 | 252 112|140 138 | 80 | 114|160 | 210|213 | 477 | 186 | M25x1,5 | M20x1,5 |26,5
40-125/2.2 65 | 115 | 145|185| 40 | 80 [ 110|150 | 14 | T [252 [ 112|140 | 138 | 80 | 114|160 | 210 | 213 | 477 | 186 | M25x1,5 | M20x1,5 29,6
50-125/2.2 65 [ 115 145]185] 50 [ 95 [125[165| 16 | 2 [292 [132]160 | 138 | 100 | 114 [ 190 | 240 | 254 | 497 | 186 | M25x1,5 | M20x1,5 32,9
3(L)S 32,65 -3 + 4 kw 2 Poles
B
D2
-2 M25x1.5 A
o ‘DNZ‘ M20x1.5 1018 |
4w - o] Lote
’ | 3 o [% o
5 & %t 75%%%%% %7/ T =
—HE00000 \ ﬂ
=L NEaRY -
. @ [re]
Fig. 1 ! ! | # 4@
R ‘ C ‘ 140 ‘ 22.5 H 4-915
w N1
S1 M N2
‘I 4-¢11
P
Fig. 2 : SIS 2 \VT ‘
s ] v 185 e
u e ———11
DIMENSIONS TABLE
Dimensions [mm] Weight
Model 0|0 | 0|0 Z 0|0 | 0|0 k
DN1| P1 | K1 |D1|S1|[1]|[2] |IDN2| P2 | K2 | D2|S2 |Fig.| H |H1 |H2/H3| R |W M |N1|N2| A | B | C | Ll|L2]1L3 [kg]
32-200/3.0 50 1 95 | 125|165 16 | 4 - [ 321751100140 14 | 1 [340]160|180|145] 80 | 70 | 1191190240296 |528|205| 160|202 | 42 |43,4
32-200/4.0 50 | 95 [125]165| 16 | 4 | - | 32|75 |100]140| 14 | 1 |340|160|180]161| 80 | 70 | 119|190 240 |296|550|212 | 190|228 38 45,9
65-125/4.0 80 [ 1341160200 18 | 8 | 4 | 65 [115[145[185] 16 | 2 [340|160]180|161]100] 95 | 140]212|280]254|570]212 190|228 38 |47,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 79 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)S 32, 40, 50, 65 - up to 65-200 2 Poles
B
D2
P2 A
DN2 Vi v2
4918 ) ‘ ‘
Lé: — “f‘ 7-918
REQy-mh e
[ 2 o~
el et o =
I— =
EEgE il — = X
. 5 & & ‘ \ = -
Fig. 2 Hill| | — ~ ﬁ
— N
J 4ie i |): ? | N
i Fig. 1 g_gi[jﬁiv | i i il DN1
sl w R ‘ c ‘ F
M W
o [
St M JI ‘ {:‘7
1 G ‘ - = 9
1 il
i T
1 I i ~
L] T Fig. 3 \ :
1 ; 1L T }7
! 329 241 58.51
25 95
140 Lo S &
4-p14
\ 320 | 2/ 3
|
I

DIMENSIONS TABLE

Dimensions [mm] o
Model 0|0|0|0 z 0 0|00 ‘"[’ﬁ'a']"
DN1|P1|K1|D1|S1/[1]][2]| DN2 |P2 |[K2|D2|S2|Fig. H |[H1/H2 /H3 /H4| R |W|M|N1/N2|A|B|C|F|G|Q|LTI|L2]L3 V1 V2

32-200/5.5 | 50 [95]125[165] 16| 4 | - | 32 |75]100[140[ 14 ] 1 [340[160[180]195] 28 | 80| 70 [119[190[240/300(607|479] 15[270] 12 [216]266] 50 | M32x1,5 | M32x1,5| 62,8
32-200/7.5 | 50 [95[125/165| 16| 4 32 |75]100{140] 14| 1 [340[160[180[195| 28|80 | 70 |119|190]2401300[607|479] 15 [270] 12 |216]266| 50 | M32x1,5 | M32x1,5| 74,6
40-160/3.0 | 65 [115]145[185[ 16| 4 40 180 110]150[ 14 | 1 [292[132[160[145| 32 | 80 | 70 |118]190[240[254/528)388| 15 [220] 12 [160[200] 40 | M25x1,5 [ M20x1,5 | 39,0
40-160/4.0 | 65 [115/145/185[16] 4 40 [80[110[150[ 14 1 [292]132[160[161]20 | 80 | 70 [118190[240]254/550[395| 15 |220] 12 [190[240] 50 | M25x1,5 | M20x1,5 | 41,5
40-200/5.5 | 65 |115/145[185[ 16| 4 40 180 [110[150] 14| 2 |340[160/180[195] 28 |100] 70 [115]212]265/300[627/479| 15 |270] 12 216266/ 50 | M32x1,5 | M32x1,5 | 63,2
40-200/75 | 65 |115[145[185/ 16| 4 40 |80 110[150( 14| 2 [340[160[180[195| 28 |100| 70 |115]212(265[300/627/479] 15 [270] 12 |216|266| 50 | M32x1,5 | M32x1,5 | 69,6
50-125/3.0 | 65 [115[145[185[ 16 4 50 [951125[165[ 16 2 [292/132]160[145] 32 [100] 70 [114{190]240[254/548(388| 15 [220] 12 [160]200] 40 | M25x1,5 | M20x1,5] 42,0
50-125/4.0 | 65 [115[145[185[ 16 4 50 |951125/165/ 16| 2 [292|132|160[161] 20 [100| 70 |114{190[240[254/570[395| 15 220| 12 [190[240| 50 | M25x1,5 | M20x1,5[ 42,5
50-160/5.5 | 65 [115[145[185[ 16 4 50 |951125/165| 16| 2 [340[160(180/195| 28 [100| 70 |115212|265[300/627|479| 15 [270] 12 [216[266| 50 | M32x1,5 | M32x1,5] 63,8
50-160/7.5 | 65 |115[145[185] 16| 4 50 |95 [125/165] 16| 2 [340[160[180/195| 28 [100] 70 [115|212|265300[627|479] 15 |270] 12 [216|266| 50 | M32x1,5 | M32x1,5 | 69,6
50-200/9.2 | 65 |115[145[185[ 16| 4 | - | 50 |95 |125|165] 16| 2 [360/160[200[195| 28 |100| 70 |115]212(265[300/667/479] 15 [270] 12 |216|266| 50 | M32x1,5 | M32x1,5 | 79,7
65-125/5.5 | 80 [134/160[200] 18| 8 | 4 | 65 |115[145[185[ 16| 2 [340[160]180]195] 28 [100] 95 [140[212/280/300(627/479] 15 [270] 12 [216[266| 50 | M32x1,5 | M32x1,5] 60,0
65-125/7.5 | 80 [134[160[200] 18| 8 | 4 | 65 |115/145/185[ 16| 2 [340[160[180[195| 28 |100| 95 |140212[280[300(627|479] 15 [270| 12 |216|266| 50 | M32x1,5 | M32x1,5| 67,0
65-160/7.5 | 80 [134[160[200] 18| 8 | 4 | 65 |115]145/185[ 16| 2 [360[160[200]195| 28 |100| 95 |140212[280[300(627/479| 15 [270| 12 |216|266| 50 | M32x1,5 | M32x1,5[ 70,0
65-160/9.2 | 80 [134{160[200[ 18| 8 | 4 | 65 |[115[145]185| 16| 2 [360[160[200]195] 28 [100] 95 |140[212(280[300|667|479] 15 [270] 12 |216]266] 50 | M32x1,5 | M32x1,5|77,0
65-200/15 | 80 [134/160[200] 18| 8 | 4 | 65 |115]145/185/ 16| 2 1405/180[225[238| 20 [100] 95 [140[250[320[350/808|621] 20 [350] 14 [254|314] 60 | M40x1,5 | M40x1,5 |128,0
65-200/18.5] 80 [134/160[200] 18| 8 | 4 | 65 |115/145/185/ 16| 2 1405/180[225238] 20 [100] 95 [140[250[3201350/852|621] 20 [350] 14 [254|314] 60 | M40x1,5 | M40x1,5 |141,0
65-200/22 | 80 [134/160[200] 18| 8 | 4 | 65 |115/145/185/ 16| 3 1405/180225245] - 100 - | - 250[320/350/888] - | - [ - | - | - | - | - | M40x1,5 | M40x1,5 |160,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 80 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 40, 50, 65 - 11 + 15 kW 2 Poles

P2 M40x1.5

e of

N
1 0
kel
<

f

DIMENSIONS TABLE

Dimensions [mm]

Model o | 0| 0| @ z ""[?(iglht
DN1 P1 K1 D1 S1 [1] [2] DN2 P2 K2 D2 S2 H H1 H2 w B F 9
40-200/11 65 115 | 145 | 185 16 4 - 40 80 110 | 150 14 382 | 160 | 180 | 110 | 798 | 833 | 107,0
50-200/11 65 115 | 145 | 185 16 4 50 95 125 | 165 16 402 | 160 | 200 | 110 | 798 | 833 | 107,0
50-200/15 65 115 145 185 16 4 - 50 95 125 165 16 402 160 200 110 798 833 | 131,0
65-160/11 80 134 160 200 18 8 4 65 115 145 185 16 402 160 200 | 1225 | 798 846 76,0
65-160/15 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 16 402 | 160 | 200 | 1225 808 | 856 | 104,0
[1] Standard
[2] On request
3LS 80-160 2 Poles
¢ 200
¢ 135
M40x1.5
DN8Q VAOKLS 8018
s 4-¢15
320
B
450 DIMENSIONS TABLE
T Dimensions [mm] Weight
g | +  H= 80-160/11 833 135,0
80-160/15R 833 147,0
< - 80-160/15 833 147,0
T T 8w 80-160/18.5 877 755,0

Your Life, our Quality. Worldwide. 81 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LS 65-250, 80 2 Poles

B-918 2-65/8

H2

K1

H4

4-9D3

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1/P1|K1|D1|S1| DN2 |P2|D2|S2|H |H1|H2|H3|H4/H5 R |W |N1|N2|M|M1| L |L1|L2|L3|L5|A1/A2| B | C|F1|G|D3|D5| V1 V2 [kg]
65-250/30] 80 [135[160200] 22[ 65 Fig. 1]120/185] 20 4502002503 10] 15[ 25 [100/120280360/160] 80 305318395] 70[370200200] 968 341/32.5396] 19] 17 [M50x1,5|M50x1,5303,0
65-250/37 | 80 135160200 22 |65 Fig. 11120185/ 201450200250310 1525 [100/120280360]160] 80 305318395/ 70 3702002001 968 341/32.5396] 19| 17 M50x1,5|M50x1,5320,0
80-200/22 [ 100]155[1801225] 24 | 65 Fig. 2 135200 22 4301180250245/ 13]22 [125/95 280345125/ 65 241279350, 80 3201175[182] 913 32958.5320 15[ 14 [M40x1,5[M40x1,5[200,0
80-250/37 | 100]155[180[225] 24 | 65 Fig. 2 135200 22 480200280310 15] 25 [125]120315400]160] 80 305318395 70/370200120011021136932.5396] 19] 17 [M50x1,5[M50x1,5[335,0
3LS 80 2 Poles

# 200

8 135 Al A2

u|

9 225
® 155

4-¢D3 M1

DIMENSIONS TABLE

Model Dimensions [mm] Weight
H | HI | H2 | H3 | H4 | H5 | W | NT [N | M |MT| L | L1 |L2]L3]|L5]|A1]|A2]| B C | F1 | G | D3 | Ikl
80-200/30 450 [ 200 | 250 [ 310 ] 20 | 25 | 95 [ 280 | 360 | 130 | 80 | 305|318 [ 395 | 70 [ 370 | 200 | 200 | 993 | 341 [32.5] 396 | 14 |306,0
80-200/37 450 | 200 | 250 [ 310 | 20 | 25 | 95 | 280 | 360 | 130 | 80 | 305|318 [ 395 | 70 | 370 | 200 | 200 | 993 | 341 [ 325|396 | 14 |325,0
80-250/45 505 [ 225 1280 [ 335 | 25 | 28 | 120 [ 315 | 415 | 165 | 100 | 317 | 356 | 435 | 75 [ 393 | 225 | 225 | 1051|385 | 41 | 435 | 18 ]401,0

Your Life, our Quality. Worldwide. 82 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LS 80-250/55 2 Poles

275 275

370

280

81483

¢ 225

200

80

30

26 405

500

Weight
80-250/55: 489 kg _ T

100

Your Life, our Quality. Worldwide. 83 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 32, 40, 50, 65 - up to 65-200 2 Poles

>

S2

DN1

D1
P1

@7 360 3 4-915 H ©

(X) Onlyfor 32-200/5.5/7.5
() Onlyfor 50-125/2.2/3/4
65/125/4

DIMENSIONS TABLE

Dimensions [mm] )

Model (0|0 |0 |0 Z |8]|0|0|0 bt
DN1/ P1 | K1 |D1|S1|[1]|[2] |[DN2| P2 |K2|D2|S2| H |H1|/H2/H3| R| A | B |B1|D|E |NT|N2|N3|T V1 V2 9

32-125/1.1 | 50 | 95 [125/165| 16 | 4 | - |32 | 75]100/140| 14 [302|112]140|129] 80 |213|715[272| 80 |550|300|340|250|710 | M25x1,5|M20x1,5| 43,5
32-160/15 | 50 | 95 [125]165] 16 | 4 32175 1100]140] 14 1342[132]160]138| 80 |254[760|317] 80 [590]350(390|300|750 |M25x1,5|M20x1,5| 51,0
32-160/2.2 | 50 | 95 [125]165] 16 | 4 32175 1100]140[ 14 1342[132]160]138| 80 |254|760|317] 80 [590]350(390|300 | 750 |M25x1,5|M20x1,5| 53,5
32-200/3 50 |95 |125|165] 16 | 4 32 [ 751100[140| 14 [390] 160|180 145] 80 |296|809|366| 80 [590|350]390|300]750|M25x1,5|M20x1,5] 68,0
32-200/4 50 |95 |125]165] 16 | 4 32 1 751100[140| 14 [390] 160|180 161] 80 |296|831|388| 80 [590|350]390|300]750|M25x1,5|M20x1,5]72,0
32-200/5.5 | 50 | 95 [125]165] 16 | 4 32|75 1100]140] 14 1390|160]180]195| 80 |296|885|442|100|650]350]390|300|850 | M32x1,5|M32x1,5]| 88,0
32-200/75 | 50 | 95 [125]165] 16 | 4 32|75 1100] 140 14 1390|160 180 195| 80 |296|885|442|100|650]350 (390|300 |850 | M32x1,5|M32x1,5] 99,8
40-125/1.5 | 65 | 115[145/185] 16 | 4 40 | 80 [ 110150 14 1302 112[140|138| 80 |213]760]317] 80 [550|300|340|250|710 | M25x1,5|M20x1,5| 48,5
40-125/2.2 | 65 | 115]145]185] 16 | 4 40 | 80 [110[150] 14 [302]112[140[138| 80 [213[760[317] 80 [550]300]340]250|710|M25x1,5|M20x1,5[ 51,0
40-160/3 65 [115]145]185[ 16 | 4 40 | 80 [110[150] 14 [342]132|160|145| 80 |254[809|366| 80 [590]350]390]300|750 | M25x1,5|M20x1,5] 77,5
40-160/4 65 [115]145]185] 16 | 4 40 | 80 [110]150] 14 [342[132[160|161| 80 |254]831|388| 80 [590|350|390|300]| 750 | M25x1,5|M20x1,5| 64,5
40-200/5.5 | 65 | 115[145|185] 16 | 4 40 | 80 [110]150] 14 1390|160]180|195[100|296|905|442|100]650|350(390| 300|850 | M32x1,5|M32x1,5] 89,0
40-200/7.5 | 65 | 115[145)185] 16 | 4 40 | 80 [110]150] 14 1390|160]180|195[100|296|905|442]100[650|350|390|300]|850 | M32x1,5|M32x1,5| 94,5
40-200/11 [ 65 |115]145]185] 16 | 4 40 | 80 [110[150] 14 [390]160|180(238|100|296(1073[610| 100|800|380|420] 330 |1000| M40x1,5|[M40x1,5[117,0
50-125/2.2 |1 65 [115]145]185] 16 | 4 50 | 95 |125/165] 16 [342]132]160]138|100]254]780]317| 80 [550[350(390|300|710|M25x1,5|M20x1,5| 75,0
50-125/3 65 [115]145]185[ 16 | 4 50 | 95 |125/165] 16 [342]132]160|145]100|254|829|366| 80 [590|350|390 300|750 | M25x1,5|M20x1,5| 79,0
50-125/4 65 [115]145]185] 16 | 4 50 | 95 |125[165] 16 [342]132|160]161|100|254 851|388 | 80 [590]350|390|300|750|M25x1,5|M20x1,5| 81,5
50-160/5.5 | 65 [115]145]185] 16 | 4 50 | 95 |125[165] 16 [390]160|180]195| 100|296 |905|442|100|650|350390300|850|M32x1,5|M32x1,5| 89,0
50-160/7.5 | 65 [115]145]185] 16 | 4 50 |95 |125/165] 16 [390|160|180|195|100]296]905]442| 100|650 |350|390|300|850 | M32x1,5|M32x1,5] 94,5
50-200/9.2 | 65 [115]145]185] 16 | 4 50 | 95 |125/165] 16 [410[160[200|195[100|296]945]482| 100|650 |350|390 300 | 850 | M32x1,5[M32x1,5]/100,0
50-200/11 | 65 [115]145]185] 16 | 4 50 | 95 | 125[165] 16 [410]160|200(238|100]296|1073/610| 100 |800|380|420]330|1000 M40x1,5|M40x1,5]117,5
50-200/15 | 65 [115|145[185] 16| 4 | - | 50 | 95 | 125[165] 16 [410]160|200|238| 100|296 (1073610 | 100|800 | 380 | 420|330 [1000] M40x1,5 | M40x1,5|125,4
65-125/4 80 [1341160]200( 18 | 8 | 4 | 65[115]145]185] 16 |390|160|180|161|100|254|851|388| 80 [590|350|390| 300|750 | M25x1,5[M20x1,5] 82,0
65-125/5.5 | 80 [134]160]200| 18 | 8 | 4 | 65 [115]145]185] 16 [390] 160|180 195|100 254|905 |442|100|650]350]390]300]850|M32x1,5|M32x1,5] 90,0
65-125/7.5 | 80 [134]160]200| 18 | 8 | 4 | 65 [115[145]185] 16 [390] 160|180 195 100|254 |905|442|100|650]350]390]300]850|M32x1,5|M32x1,5|97,0
65-160/7.5 | 80 [134]160[200| 18 | 8 | 4 | 65 [115]145][185] 16 |410[160]200]195|100]296|905|442|100|650]350]390|300 |850 | M32x1,5|M32x1,5]103,0
65-160/9.2 | 80 [134]160[200] 18 | 8 | 4 | 65 [115]145[185] 16 |410]160]200]195|100]296|945|482|100|650]350]390| 300|850 | M32x1,5|M32x1,5]107,0
65-160/11 | 80 [134]160[200] 18 | 8 | 4 | 65 [115]145[185] 16 |410]160]200]238|100]296(1073/610| 100800380 |420]|330|1000| M40x1,5|M40x1,5]114,0
65-160/15 | 80 [134]160]200| 18 | 8 | 4 | 65 [115]145]185| 16 [410]160]200]238| 100|296 |1073/610| 100|800 |380|420|330(1000 M40x1,5|M40x1,5[119,0
65-200/15 | 80 [134]160]200] 18| 8 | 4 | 65 [115]145[185] 16 |455[180]225]238]100]296(1073/610] 100800380 |420]330[1000] M40x1,5|M40x1,5[127,0
65-200/18.5] 80 [134]160[200] 18 | 8 | 4 | 65 [115]145[185] 16 |455[180]225]238|100]296|1117/654| 100 |800|380|420|330(1000| M40x1,5|M40x1,5]139,0
65-200/22 | 80 [134]160[200] 18 | 8 | 4 | 65 [115|145[185] 16 |455]180[225]245|100]296 11531690 100 |800|410|450]| 360 |1000| M40x1,5|M40x1,5]182,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 84 Commercial



3 - 3L SERIES

| CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP 65-250, 80 2 Poles

D2 B1

D1
P1

4-918 f?ﬁ

Fig. 1

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1/ P1|k1|D1|S1| DN2 |[P2|D2|S2| H |H1|H2|H3|H4| R [N1|N2|N3| B |B1|C |G| E | T |S |D4|Sp.| V1 V2 [ka]
65-250/30 | 80 [135]160]200| 22 |65 Fig. 1[120]185[ 20 [510]{200]250[310] 60 |100]530/590]460{1343]770]470]396|1000[1200] - [ 19| 8 [M50x1,5[M50x1,5[354,0
65-250/37 | 80 |135]160]200] 22 |65 Fig. 1]120[185] 20 [510/200/250|310] 60 |100]/530/590(460|1343|770]470(396]1000[1200] - | 19| 8 [M50x1,5/M50x1,5/373,0
80-160/11 [100]155]180]225] 24 [80 Fig. 2|135]200] 22 [455[180(225|238] 50 |125]380]420(330/1098|610{360(317] 800 [1000] 20 | 15[ 5 |M40x1,5/M40x1,5]164,0
80-160/15R | 100]155]180(225] 24 [80 Fig. 2|135]200] 22 |455[180(225|238] 50 | 125]380]420(330/1098|610|360(317] 800 [1000] 20 | 15[ 5 |M40x1,5/M40x1,5]176,0
80-160/15 | 100]155]180]225] 24 [80 Fig. 2|135]200] 22 |455[180(225|238] 50 | 125]380]420(330/1098|610|360(317] 800 [1000] 20 | 15[ 5 |M40x1,5/M40x1,5]176,0
80-160/18.5] 100|155/ 180225| 24 |80 Fig. 2[135]200] 22 [455]180]225]238] 50 | 125]380|420[330|1142|654|360|317] 800 [1000] 20 | 15| 5 [M40x1,5[M40x1,5[185,0
80-200/22 |100]155/180(225| 24 |80 Fig. 2[135]200( 22 [490]180]250[245] 60 |125/530/590(460|1288|690|470/320/1000[1200] - [ 19| 8 [M40x1,5[M40x1,5[252,0
80-250/37 |100]155]180]225] 24 [80 Fig. 2|135]200] 22 [540[200/280|310] 60 | 125][530/590(460|1368|770]470]396]1000[1200] - | 19 8 |M50x1,5/M50x1,5]377,0
3LP 80 - 30 + 45 kW 2 Poles
B
@ 200 B1
® 135 Vi V2
24
I I |
125 470 4-910 H« . 460
100 1000 530
1200 590
DIMENSIONS TABLE
Dimensions [mm] Weight
Model H H1 H2 H3 B B1 G 3 V1 V2 [kal
80-200/30 510 180 250 310 1368 770 396 20 M50x1.5 M50x1.5 356,0
80-200/37 510 180 250 310 1368 770 396 20 M50x1.5 M50x1.5 365,0
80-250/45 565 200 280 335 1398 800 435 25 M50x1.5 M50x1.5 440,0

Your Life, our Quality. Worldwide. 85 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LP 80-250/55 2 Poles

1508

% 200 910

6 135 M63x1.5 M63x1.5

DNBO

24

280

®|483

605

200

9 225
9 155
DNWOO‘

75_|50

Weight
3LP 80-250/55: 528 kg

3(L)SF 32, 40, 50 2 Poles

S2

$ 165
¢ 200

Fig. 1
R ‘ 15
29
16
Fig. 2L' 1
25
2—¢10

DIMENSIONS TABLE

Model Dimensions [mm] Weight

Fig. | DN1 | P1 K1 D1 | DN2 | P2 K2 D2 S2 H H1 H2 M N1 N2 R A B C [kl
32-125/1.1 1 50 95 125 | 165 | 32 75 100 | 140 14 1252 | 112 | 140 | 114 | 140 | 190 | 80 | 213 | 118 | 174 13,1
32-160/1.5 1 50 [ 95 [ 125 [ 165 ] 32 [ 75 [ 100 [ 140 | 14 | 292 | 132 [ 160 | 118 | 190 | 240 | 80 | 254 | 130 | 186 | 17,0
32-160/2.2 1 50 [ 95 [ 125 [ 165 | 32 [ 75 [ 100 [ 140 | 14 | 292 | 132 [ 160 | 118 | 190 | 240 | 80 | 254 | 130 | 186 | 17,0
40-125/1.5 1 65 | 115 [ 145 [ 185 [ 40 | 80 | 110 [ 150 | 14 | 252 | 112 [ 140 | 114 [ 160 | 210 | 80 | 213 | 130 | 186 | 144
40-125/2.2 1 65 115 | 145 | 185 | 40 80 110 | 150 14 | 252 [ 112 | 140 | 114 | 160 | 210 | 80 | 213 | 130 | 186 14,5
50-125/2.2 2 65 [ 115 [ 145 [ 185 [ 50 | 95 [ 125 [ 165 | 16 | 292 | 132 | 160 | - 190 | 240 | 100 | 254 | 130 | 186 | 20,0

Your Life, our Quality. Worldwide. 86 Commercial




3 - 3L SERIES

| CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)SF 32, 40, 50, 65 2 Poles
B
D2
P2
A
) _
m -
)
i
— IR
= T ©
000000 | |
,@7}
AN
C
st_||. M
DIMENSIONS TABLE
Dimensions [mm] )
Model Z Vﬁ'gf
Fig. |DN1| P1 | K1 | D1 | S1 | [1] | [2] |IDN2| P2 | K2 |D2|S2 | H |H1|H2| M |N1T|N2|  R/W A | B | C|D]|E F| G
32-200/3 1 5095 [125]165| 16| 4 - | 321 75]100]140] 14 [340|160| 180119190240 | 80 | 70 | 296|222 | 142|180 215|250 |M12{24,0
32-200/4 1 | 50195 [125[165| 16| 4 321 75 1100]140] 14 |340 (160|180 119]190]240| 80 | 70 [ 296|222 | 142|180 215|250 |M12]24,0
32-20055 | 1 |50 | 95 |125]165] 16| 4 32| 751100 140] 14 [340|160|180|119]190]240| 80 | 70 | 296 |245| 165|230 265 | 300 |M1228,0
32-200/75 1 1 |50 | 95 |125[165| 16 | 4 32751100 140| 14 [340 160|180 | 119]190|240| 80 | 70 | 296 | 245|165 | 230 265 | 300 |M12(28,0
40-160/3 1 165 |115[145]185] 16 | 4 40 | 80 | 110150 14 12921132160 {118 |190(240| 80 | 70 | 254|222 | 142|180 | 215|250 |[M12]19,5
40-160/4 1 [ 65 [115]145]1185| 16 | 4 40 | 80 [ 110150 14 [2921132]160[118|190|240| 80 | 70 | 254 222|142 [180 215|250 |[M12/20,0
40-20055 | 2 | 65 [115[145]185[ 16 | 4 40 [ 80 [ 110|150 14 [340| 160|180 | 115|212|265[100| 70 | 296|265 | 165|230 | 265|300 |M12|28,0
40-200/75 | 2 | 65 [115]145[185| 16 | 4 40 | 80 [ 110150 14 [340]160] 180 | 115|212]265]100| 70 |296|265] 165|230 | 265|300 |[M12(28,0
40-200/11 2 | 65 [115]145]185| 16 | 4 40 | 80 [ 110150 14 [340 160|180 | 115|212 [265]100| 70 | 296|298 198 | 250 | 300 | 350 |[M16/41,5
50-125/3 2 |65 [115]145]1185| 16 | 4 50 | 95 | 125]165] 16 [292 132160 | 1141190 |240|100| 70 | 254|242 | 142|180 215|250 |M12{20,0
50-125/4 2 | 65 [115]145]185| 16 | 4 50 | 95 | 125165 16 [292]132[160|114]190|240|100| 70 | 2542421421801 215|250 |M12{20,0
50-160/55 | 2 | 65 [115]145]185| 16 | 4 50 [ 95 | 125[165] 16 [340] 160|180 | 115]212|265]100| 70 | 296|265 165|230 | 265 | 300 |[M12]28,5
50-160/75 | 2 | 65 [115]145]185| 16 | 4 50 | 95 | 125[165] 16 [340| 160|180 | 115]2121265]100| 70 | 296|265 165|230 | 265|300 |[M12]28,5
50-2009.2 | 2 | 65 [115]145]185| 16 | 4 50 | 95 | 125]165] 16 [360| 160200 | 115]2121265]100| 70 | 296|265 165|230 | 265|300 |M12(29,0
50-200/11 2 | 65 [115]145]185| 16 | 4 50 | 95 | 125[165] 16 [360] 160|200 |115]2121265]100| 70 1296|298 | 198|250 | 300 | 350 [M1641,5
50-200/15 2 | 65 [115]145]185| 16 | 4 - |50 1 95 [125]165] 16 [360| 160|200 | 115|212 ]265[100| 70 [ 296|298 | 198 | 250 | 300 | 350 |M16(42,5
65-125/4 2 180 [134]1160(200| 18 | 8 | 4 | 65 [ 115]145[185| 16 340|160 | 180|140 (212|280 |100| 95 | 254 242|142 {180 | 215|250 |M12|26,0
65-125/5.5 2 |80 (1341160200 18 | 8 | 4 | 65 |115]145[185| 16 [340| 160|180 | 1402121280100 | 95 | 254|265 165|230 | 265|300 |M12|27,5
65-125/75 | 2 | 80 [1341160[200| 18 | 8 | 4 | 65 [115|145|185] 16 [340| 160|180 |140[212|280|100| 95 | 254|265 165|230 |265|300|M12(28,5
65-160/75 | 2 | 80 [134|160[200| 18 | 8 | 4 | 65 [115]145|185] 16 [360| 160|200 |140|212|280|100| 95 296|265 165|230 |265|300|M12(27,0
65-160/9.2 | 2 | 80 [134|160[200| 18 | 8 | 4 | 65 [115]145|185] 16 [360| 160|200 |140|2121280|100| 95 [296|265| 165|230 |265|300|M12(30,0
65-160/11 2 |80 (1341160200 18 | 8 | 4 | 65 |115]145[185| 16 [360| 160|200 1402121280 |100| 95 |296|298| 198 | 250 | 300 | 350 |M1640,0
65-160/15 2 |80 [134]160(200| 18 | 8 | 4 |65 [115]145[185| 16 |360|160|200|140(212]280|100| 95 | 296 | 308|208 | 250 | 300 | 350 |M16(42,0
65-200/15 2 |80 [134]160(200| 18 | 8 | 4 |65 [115]145[185| 16 405|180 |225|140|250]320]100| 95 | 296 | 308|208 | 250 | 300 | 350 |[M16(29,5
65-200/185] 2 | 80 [134|160[200| 18 | 8 | 4 | 65 [115|145|185] 16 [405]180|225|140]250|320[100| 95 |296 308|208 | 250 | 300 | 350 [M16]29,5
65-200/22 2 |80 [134]160(200) 18 | 8 | 4 | 65 [115]145[185| 16 405|180 |225|140|250]320]100| 95 | 296|308 208 | 250 | 300 | 350 |[M16(30,0

[1] Standard
[2] On request

Your Life, our Quality. Worldwide. 87 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)SF 65-250, 80 2 Poles

D1
P1

DIMENSIONS TABLE

Model Dimensions [mm] Weight
DN1| P1 |K1|D1|S1| DN2 |P2|D2|S2| H |H1|H2|H3| R|W |[N1|N2|M |M1|D3|B|C|D|E|F| G |A1]|A2]lkd]
65-250/30 80 [135]160[200] 22 [ 65Fig. 1]120]185] 20 1450120012501 15 [100]120]280]360]160] 80 | 19 [308]208]300[350]400]4 - M16]200[200]70,0
65-250/37 80 [135]160[200] 22 [65Fig. T]120[185] 20 [450(200250] 15 [100]120[280]360]160| 80 | 19 [308|208]300|350|400 |4 - M16/200200] 71,0
80-160/11 100]155[180]225] 24 [ 80 Fig. 2 [135]200] 22 [405]180[225] 13 [125] 95 [250[320[125] 65 [ 15 [333]208]250]300[350]4 - M16]175[175[52,0
80-160/15R 100[155]180(225| 24 [ 80Fig. 2 | 135/200| 22 |405[180]225] 13 [125] 95 [250/320|125| 65 | 15 |333]208|250(300350 |4 - M16[175]175]52,0
80-160/15 100[155]180]225] 24 [80Fig. 2[135]200] 22 [405[180[225] 13 [125] 95 [250[320]125] 65 [ 15 [333]208]250[300[350[4 - M16[175]175]52,0
80-160/18.5 | 100[155[180[225] 24 [ 80Fig. 2 [135[200] 22 [405[180[225] 13 [125] 95 [250[320]125] 65 | 15 [333]208]250[300[350[4 - M16[175]175]53,0
80-200/22 100|155[180225] 24 [80Fig. 2 [135]200] 22 [430]180[250] 13 [125] 95 [280[345[125] 65 | 15 |333]208]250|300(3504 - M16/175[ 182 [ 68,0
80-200/30 100 155]180(225]| 24 [80Fig. 2 [ 135]200] 22 |430[180[250] 13 [125] 95 [280|345[125] 65 | 15 |333]208|300[350400|4 - M16[200]200] 72,0
80-200/37 100[155]180]225] 24 [80Fig. 2[135]200] 22 [430]180[250] 13 [125] 95 [280[345]125] 65 [ 15 [333]208]300350[400[4 - M16[ 200|200 73,0
80-250/37 100[155]180]225] 24 [80Fig. 2[135]200] 22 [480[200]280] 15 [125[120[315[400] 160 80 [ 19 [361]236]300[350[400[4 - M16[200]20083,0
80-250/45 100[155]180]225] 24 [80Fig. 2[135]200] 22 [480]200]280] 15 [125[120[315[400] 160 80 [ 19 [361]236]350[400[450[8 - M16[225]225]88,0
80-250/55 100]155]180]225] 24 [80Fig. 2 [135]200] 22 [480/200]280] 15 [125[120]315][400]160] 80 | 19 [373]248]450]500[550]8 - M16]275]275]100,0

Your Life, our Quality. Worldwide. 88 Commercial



3 - 3L SERIES

| CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)PF 32, 40, 50, 65 2 Poles

DIMENSIONS TABLE

Dimensions [mm] .
Model Z "i""-"]"
Fig. |DN1| P1 [ K1 | D1 | S1 | [1] | [2] |DN2| P2 | K2 | D2 | 2 | H | H1 | H2 | M | NT /[ N2 | R | W | A | B 9
32-125 T 150 | 95 [ 125165 ] 16 | 4 - |32 [ 75 100 ] 140 | 14 | 252 | 112 | 140 | 114 ] 140 | 190 | 80 | 70 | 213 [ 440 [17,0
32-160 1 50 [ 95 [ 125 [ 165 | 16 4 32 | 75 [ 100 | 140 | 14 | 292 | 132 | 160 | 118 [ 190 | 240 | 80 | 70 | 254 | 440 [ 19,0
32-200 1 50 | 95 [ 125 ] 165 | 16 4 32 [ 75 [ 100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 [ 240 | 80 [ 70 | 296 | 440 | 27,0
40-125 1 65 | 115 [ 145 [ 185 | 16 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 1 160 | 210 | 80 | 70 | 213 | 440 [17,0
40-160 1 65 | 115 [ 145 1185 | 16 4 40 | 80 [ 110 [ 150 | 14 | 292 [ 132 | 160 | 118 | 190 [ 240 | 80 | 70 | 254 | 440 | 19,0
40-200 2 | 65 [ 115 [ 1451185 16 | 4 40 | 80 | 110 [ 150 | 14 [340 [ 160 | 180 | 115 | 212 [ 265 [ 100 | 70 | 296 | 460 |27,0
50-125 2 [ 65 [ 1151451185 16 | 4 50 [ 95 [ 125 165 | 16 | 292 ] 132 [ 160 | 114 | 190 | 240 | 100 | 70 [ 254 | 460 | 19,0
50-160 2 | 65 [ 1151451185 16 | 4 50 [ 95 [ 125165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 [ 296 | 460 | 28,0
50-200 2 65 | 115 [ 145 [ 185 | 16 4 - 50 | 95 [ 125 [ 165 | 16 [ 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 |27,0
65-125 2 80 | 134 [ 160 | 200 | 18 8 4 65 | M5 | 145 [ 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28,0
65-160 2 |80 | 1341160 200 18 | 8 4 165 | 115 145 | 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 29,0
65-200 2 |80 | 1341160 200 18 | 8 4 165 [ 115 145 | 185 | 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 30,0

[1] Standard
[2] On request

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor

Your Life, our Quality. Worldwide. 89 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)PF 65-250, 80 2 Poles
D2

P2 120 % Al ‘ A2

H2

D1

DIMENSIONS TABLE

Model Dimensions [mm] Weight

DN1| P1 | K1 | D1 | 51 DN2 |[P2|D2|S2| H |[HT1|H2|H3| R |W |[NT|N2|M|M1| L |L1|D|D3|E| F|A1]|A2] B | C |kl
65-250 80 [135]160[200| 22 | 65Fig. 1 [120]185] 20 [450]200[250] 15 [100]120]280]360]160] 80 |130] 80 | 32 | 19 [ 10 | 35 | 175]182]570]340(82,0
80-160 100 155]180[225] 24 [ 80 Fig. 2 [135]200] 22 1405|180 1225] 13 [125] 95 [250|320(125] 65 [100] 50 | 24 [ 15[ 8 | 27 [147]173]485]260(60,0
80-200 100 | 155]180(225] 24 | 80Fig. 2 [135]200] 22 [430| 180|250 13 [125] 95 [280|345|125] 65 [130]80 |32 [ 15[ 10| 35 |175]182|595]340(83,0
80-250 100 155[180(225| 24 | 80 Fig. 2 [135]200| 22 [480]200|280] 15 [125[120|315]400|160] 80 [130] 80 | 32 | 19 | 10 | 35 [ 175|192 |595|340(88,0

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

Your Life, our Quality. Worldwide. 90 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
Joint for 3(L)S - 3SF Series 2 Poles
L
b Vit UNI EN 1SO 4029
] N
, . E A —
L7 ‘
< + = - if — T — e
DIMENSIONS TABLE
Motor Dimensions [mm]

Model [HP] kw] size d d1 d2 d3 M L b h Screws
32-125/1.1 1,5 1,1 80 19 22 19 33 M16x1,5 98 43 6 21,8 Mbx6
32-160/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
32-160/2.2 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
32-200/3.0 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/5.5 75 5,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
32-200/7.5 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
40-125/1.5 2 1,5 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
40-125/2.2 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
40-160/3.0 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
40-160/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
40-200/5.5 75 5,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
40-200/7.5 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
40-200/11 15 11 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
50-125/2.2 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
50-125/3.0 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
50-125/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
50-160/5.5 7,5 5,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
50-160/7.5 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
50-200/9.2 12,5 9,2 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
50-200/11 15 11 160 19 22 42 63 M16x1,5 178 114 12 453 M8x8
50-200/15 20 15 160 22 22 42 63 M18x1,5 209 114 12 453 M8x8
65-125/4.0 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
65-125/5.5 75 5,5 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
65-125/7.5 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
65-160/7.5 10 75 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
65-160/9.2 12,5 9,2 132 19 22 38 58 M16x1,5 145 84 10 413 M8x8
65-160/11 15 11 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
65-160/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
65-200/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 453 M8x8
65-200/18.5 25 18,5 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8&x8
65-200/22 30 22 180 24 30 43 72 M20x1,5 184 114 14 51,8 M10x10
65-250/30 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
65-250/37 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
80-160/11 15 11 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
80-160/15R 20 15 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8&x8
80-160/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
80-160/18.5 25 18,5 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
80-200/22 30 22 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10
80-200/30 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
80-200/37 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
80-250/37 50 37 200 29 35 55 85 M24x2 206 114 16 59,3 M12x12
80-250/45 60 45 225 29 35 55 85 M24x2 206 114 16 59,3 M12x12
80-250/55 75 55 250 29 35 60 89 M24x2 218 144 18 64,4 M12x12

Your Life, our Quality. Worldwide. 91 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
Joint for 3(L)P Series 2 Poles
= N
FUMF SDE FUMF SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONS TABLE
. Dimensions [mm]

Model [HP] [kw] Motor size d1 b1 hi ) b2 h2
32-125/1.1 1,5 1,1 80 24 8 273 19 6 21,8
32-160/1.5 2 1,5 90 24 8 27,3 24 8 27,3
32-160/2.2 3 2.2 90 24 8 27,3 24 8 27,3
32-200/3.0 4 3 100 24 8 273 28 8 31,3
32-200/4.0 55 4 112 24 8 273 28 8 31,3
32-200/5.5 7,5 5,5 132 24 8 27,3 38 10 413
32-200/7.5 10 75 132 24 8 27,3 38 10 413
40-125/1.5 2 1,5 90 24 8 27,3 24 8 27,3
40-125/2.2 3 2,2 90 24 8 27,3 24 8 27,3
40-160/3.0 4 3 100 24 8 273 28 8 31,3
40-160/4.0 55 4 112 24 8 273 28 8 31,3
40-200/5.5 7,5 5,5 132 24 8 27,3 38 10 413
40-200/7.5 10 75 132 24 8 27,3 38 10 413
40-200/11 15 11 160 24 8 273 42 12 45,3
50-125/2.2 3 2,2 90 24 8 273 24 8 273
50-125/3.0 4 3 100 24 8 273 28 8 31,3
50-125/4.0 5,5 4 112 24 8 27,3 28 8 31,3
50-160/5.5 7,5 5,5 132 24 8 27,3 38 10 413
50-160/7.5 10 7,5 132 24 8 273 38 10 413
50-200/9.2 12,5 9,2 132 24 8 273 38 10 413
50-200/11 15 11 160 24 8 27,3 42 12 45,3
50-200/15 20 15 160 24 8 27,3 42 12 453
65-125/4.0 5,5 4 112 24 8 27,3 28 8 31,3
65-125/5.5 7,5 5,5 132 24 8 27,3 38 10 413
65-125/7.5 10 7,5 132 24 8 273 38 10 413
65-160/7.5 10 75 132 24 8 27,73 38 10 41,3
65-160/9.2 12,5 9,2 132 24 8 27,3 38 10 413
65-160/11 15 11 160 24 8 27,3 42 12 453
65-160/15 20 15 160 24 8 27,3 42 12 45,3
65-200/15 20 15 160 24 8 27,73 42 12 45,3
65-200/18.5 25 18,5 160 24 8 27,3 42 12 45,3
65-200/22 30 22 180 24 8 27,3 48 14 51,8
65-250/30 40 30 200 32 10 35,3 55 16 59,3
65-250/37 50 37 200 32 10 35,3 55 16 59,3
80-160/11 15 11 160 24 8 27,3 42 12 45,3
80-160/15R 20 15 160 24 8 27,3 42 12 45,3
80-160/15 20 15 160 24 8 27,3 42 12 45,3
80-160/18.5 25 18,5 160 24 8 27,3 42 12 45,3
80-200/22 30 22 180 32 10 35,3 43 14 51,8
80-200/30 40 30 200 32 10 35,3 55 16 59,3
80-200/37 50 37 200 32 10 35,3 55 16 59,3
80-250/37 50 37 200 32 10 35,3 55 16 59,3
80-250/45 60 45 225 32 10 35,3 55 16 59,3
80-250/55 75 55 250 32 10 35,3 60 18 64,4

Your Life, our Quality. Worldwide. 92 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)M 32, 40, 50, 65 - up to 11 kW SECTIONAL VIEW 2 Poles
1 4 26 /72 56 16 1/ 58 o6 12 21
[N i /f |
S | 14
‘ I
”@ | . -
‘ —
‘ E / j — 93
352 /
] ’}%\;9*’ R e ’74 1 101
34 E j ]
|
Q 1 Fﬁﬁf ————— 4% = Il
e \ / “
25 200 11 3 18 92 19 22 42 20 15
3(L)M 32, 40, 50, 65 - from 15 kW and over SECTIONAL VIEW 2 Poles

Your Life, our Quality. Worldwide. 93 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MATERIALS TABLE
Ref. Name Material
3M 3LM
001 | Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Rotor shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 | Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM

012 | Motor case

013 | Motor cover

Aluminium

014 |Fan

Polyamide

015 | Fan cover

Galvanised steel Fe P04

016 | Terminal box

017 | Terminal box cover

Aluminium (three phase version)

018 [ Spray protector washer

019 | Bearing (pump side)

NBR \

020 | Bearing (motor side)

021 | Adjusting ring

Steel C70

022 Tie-rod Galvanised steel Fe 42
Screw Galvanised Steel
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
034 [ Impeller nut EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L)
042 | Foot Aluminium / Galvanised Steel

056 | Terminal box gasket

NBR

058 | Cable gland

072 [ Wearring [1]

EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)

073 [ Wear ring

092 | Sealing ring

EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)

093 | Sealing ring

101 | Seeger ring

Carbon steel TC 80

200 | Screw (pump body)

Stainless steel A270 class 1SO 3506/1

206 | Support screw [2]

Galvanised Steel

244" | Plug 3]

\ EN 1.4301 (AISI 304)

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15

[2]= For 15 kW and over
[3]= For 65-160/15 and 65-200 only

Your Life, our Quality. Worldwide.

Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LM 80-160/11 - 80-160/13 SECTIONAL VIEW 2 Poles

T34 32 11 4 26 3 56 16 1/ 58 6 12 13 14 15 75 24 77

- =l s :
7 25 76 78 235200 244 18 92 19 101 201 42 22 220 20 21 93
3LM 80-160/15 - 80-160/18.5 SECTIONAL VIEW 2 Poles
7 32 4 20 35 18 206 56 16 17 58 12 13 14 15 75 24 77

il

125 76 /8 34 11 235200244 92 19 6 42 22 20 21 93 230 201

Your Life, our Quality. Worldwide. 95 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium
004 | Seal housing disc EN 1.4404 (AISI 316L) 042 | Foot Aluminium
006 | Rotor shaft EN1.4404 (A BtLELI?quﬁ(ajn In contact witf 056 | Terminal box gasket NBR
007 | Impeller EN 1.4401 (AISI 316) 058 | Cable gland -
011 | Mechanical seal SIC/SIC/FPM 075 | Washer EN 1.4404 (AISI 316L)
012 | Motor case - 076 | Washer EN 1.4404 (AISI 316L)
013 | Motor cover Aluminium 077 | O-Ring EPM
014 [Fan Polyamide 078 [ O-Ring
015 | Fan cover Galvanised steel Fe P04 092 | Sealing ring (11-13 kW, 15-18,5 kW)
016 | Terminal box - 093 | Sealing ring (11-13 kW, 15-18,5 kW) -
017 | Terminal box cover Aluminium 107 | Seeger ring (for 11-13 kW only) Carbon steel TC 80
078 | Spray protector washer NBR 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
079 | Bearing (pump side) - 201 | Screw (11-13 kW, 15-18,5 kW) Stainless steel A2-70 class SO 3506/1
020 | Bearing (motor side) - 206 | Motor support screw (for 15-18.5 KW only) Galvanised Steel
021 | Adjusting ring Steel C70 220 | Tie-rod nut (for 11-13 kW only) Galvanised Steel
022 | Tie-rod Galvanised Steel 230 | Washer (11-13 kW, 15-18,5 kW) Galvanised Steel
024 | Filler cap EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 | Drain plug EN 1.4404 (AISI 316L) 244 | Plug[1] EN 1.4307(AISI 304)
026 | O-Ring FPM
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 96 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3(L)S 32, 40, 50 SECTIONAL VIEW 2 Poles

IteXsli

7 41 2611 3 44 206

3(L)S 65 SECTIONAL VIEW 2 Poles

—_

Your Life, our Quality. Worldwide. 97 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MATERIALS TABLE
Ref. Name Material
3S 3LS
001 | Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 [ Motor support Cast iron EN-GJL-200-EN 1561
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 | Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM
012 | Motor -
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 [Key EN 1.4401 (AISI 316)
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Foot Aluminium / Galvanised Steel
044 | Support protection EN 1.4307 (AISI 304)
072 | Wear ring [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wear ring (not for 65) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
201 | Screw Galvanised Steel
206 | Support screw Galvanised Steel
206-2 | Adapter ring screw Galvanised Steel
244" | Plug [3] \ EN 1.4301 (AISI 304)
[1]= For the 65-125/5.5 and 65-125/7.5 version only
[2]= For the 32-200, 40-200, 50-160, 50-200 version only
[3]= For the 65-160/15, 65-200 version only
Your Life, our Quality. Worldwide. 98 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LS 80-160 SECTIONAL VIEW
1 54 7 32 4 260 N 3 44
: ; ool
E/ﬂ/ | 7
- M
N
#m ﬂ - I
- fi’* ! —
009000000000} )
- o |
g P
| - — | | am o
LI ! il =
‘ \LJ \ [un) 1 ‘
25 /6 78 255 200 244 6 47 12
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 034 [ Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 042 | Foot Aluminium
004 | Seal housing disc EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4301 (AISI 304)
006 | Joint EN 1.4404 (AISI 316L) 075 | Washer
007 [ Impeller EN1.4407 (AISI 316) 076 | Washer EN1.4404 (AISI 316L)
071 | Mechanical seal SIC/SIC/FPM 077 | O-Ring FPM
012 | Motor - 078 | O-Ring
024 | Filler cap EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class SO 3506/1
025 | Drain plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
026 | O-Ring FPM 244 | Plug[1] EN 1.4301(AISI 304)
032 | Key EN 1.4401 (AISI 316)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 99 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

3LS 65-250, 80 SECTIONAL VIEW 2 Poles

134 7 32 4 26 4A 115 3A 75 24 77

25 76 78 42A 235 200 244 © 2 1
MATERIALS TABLE

Ref. Name Material Ref. Name Material

001 [ Pump body EN 1.4407 (AISI 316) 65-250 d=24 mm

003 | Motor support Cast iron EN-GJL-200-EN 1561 032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316)

003A | Adapter ring Cast iron EN-GJL-200-EN 1561 80-250 d=29 mm

004 | Seal housing disc EN 1.4401 (AISI 316) 65-250 d=24 mm

004A | Seal housing disc screw L 1446320(‘(}6'5";2:260 034 | Impeller nut 80200 d=24 mm | EN 1.4404 (AISI 316L)
65-250 d=24 mm for 30-3;)kw 80-250 d=29 mm

006 | Joint EN 1.4404 (AISI 316L) per 22 kW 042 | Motor foot Aluminium
80-200 d=24 mm EN 1.4462 (dujplex steel) 042A | Pump foot Aluminium/galvanised steel

for 30-37 kW ump foo (for 80-250/55 only)

80-250 d=29 mm EN 1.4462 (duplex steel) 075 | Washer

007 | Tmpeller EN 14407 (AT 316) 076 | Washer EN 1.4404 (AISI 3161)

011 [ Mechanical seal SiC/SIC/FPM 077 [O-Ring FPM

012 | Motor - 078 [ O-Ring

024 | Filler cap EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class 15O 3506/1

025 | Drain plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)

026 [ O-Ring FPM 244 | Plug[1] EN 1.4301(AISI 304)

[1]= Not for H and E versions

Your Life, our Quality. Worldwide. 100 Commercial




3 - 3L SERIES

SECTIONAL VIEW 3(L)P 32, 40, 50, 65

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

2 Poles

1 4 26 11 92 66

12

N

72 42 67 93 33 142 50
MATERIALS TABLE
Ref. Name Material
3P 3LP

001 | Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 [ Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft - Part in contact with the liquid Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006A | Joint Cast iron EN-GJL-250-EN 1561
007 | imoeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)

P 65-125/160/200 EN 1.4401 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM
012 | Motor -
019 | Bearing (pump side)
020 | Bearing (motor side) -
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 | Key EN 1.4401 (AISI 316)
033 | Key C40
034 | Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
042 | Foot Galvanised steel Fe 37
044 | Joint cover Galvanised steel Fe 37
050 | Foot Aluminium / Galvanised Steel
058 | Cable gland -
066 | Support cover Cast iron EN-GJL-250-EN 1561
067 | Support cover Cast iron EN-GJL-250-EN 1561
072 | Wear ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wear ring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 |RingV
093 |RingV -
142 | Base Galvanised steel Fe 37
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
244" | Plug [2] - EN 1.4301 (AISI 304)

[1]= Only for 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions

[2]= For 65-160/15 e 65-200 only

Your Life, our Quality. Worldwide.

Commercial



3 - 3L SERIES

3LP 80-160 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)

2 Poles

26
66 92 89

19

3 6 20 67 93

75 24 77

42A 50B 50C

MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 050 | Rest Aluminium
003 | Motor support Cast iron EN-GJL-200-EN 1561 050A | Pump spacer -
004 | Seal housing disc EN 1.4404 (AISI 316L) 050B | Pump spacer
EN 1.4404 (AISI316L :
006 | Shaft Part in contact \(/vith the Ii)quid 050C | Joint cover spacer
006A | Joint Cast iron EN-GJL-250-EN 1561 066 | Support cover Cast iron EN-GJL-200-EN 1561
007 Impehller el EN 1.4401 (AISI 316) 067 Sup%ort cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical sea SIC/SIC/FPM 075 | Washer
012 | Motor - 076 | Washer EN 1.4404 (AISI 316L)
079 | Bearing (pump side) 077 [ 0O-Ring FPM
020 | Bearing (motor side) - 078 [ 0O-Ring
024 |Filler cap EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
025 | Drain plug EN 1.4404 (AISI 316L) 092 | Sealing ring
026 | O-Ring FPM 093 | Sealing ring
032 |Key EN 1.4401 (AISI 316) 200 | Screw (pump body) Stainless steel A270 class 1SO 3506/1
033 | Key C40 235 | Washer EN 1.4301(AISI 304)
034 | Impeller nut EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4301(AISI 304)
042 | Foot Galvanised Steel
042A | Base Galvanised Steel
044 | Joint cover Galvanised Steel
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 102 Commercial



3LP 65-250, 80 SECTIONAL VIEW

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

2 Poles

6 20 B7 93

42A 50B 50C

MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 [ Pump body EN 1.4401 (AISI 316) 042 | Foot Galvanised Steel
003 | Motor support Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised Steel
004 | Seal housing disc EN 1.4401 (AISI 316) 044 | Joint cover Galvanised Steel
004A | Seal housing disc screw EN 1.4301(AISI 304) 050 | Foot (for 35-250/22 kW only) Aluminium
006 | Shaft EN 1.4462 (Duplex steel) for 30-37 kW | 050A | Pump spacer Aluminium
006A | Joint Cast iron EN-GJL-200-EN 1561 050B | Pump spacer Aluminium
007 | Impeller EN 1.4401 (AISI316) 050C | Joint cover spacer Aluminium
011 [ Mechanical seal SiC/SIC/FPM 066 | Support cover Cast iron EN-GJL-200-EN 1561
012 | Motor ( i - 067 Sup%ort cover Cast iron EN-GJL-200-EN 1561
019 [ Bearing (pump side 075 | Washer
020 | Bearing (motor side) - 076 | Washer EN 1.4404 (AISI 316L)
024 | Filler cap EN 1.4404 (AISI 316L) 077 | O-Ring FPM
025 | Drain plug EN 1.4404 (AISI 316L) 078 [ O-Ring
026 | O-Ring FPM 089 | Seeger ring Carbon steel TC 80
65-250 d=24 mm 092 | Sealing ring -
032 | Key 80-200 d=24mm EN 1.4401 (AISI 316) 093 | Sealing ring -
80-250 d=29 mm 200 | Screw (pump body) Stainless steel A270 class SO 3506/1
033 | Key C40 235 | Washer EN 1.4301 (AISI 304)
65-250 d=24 mm 244 [ Plug[1] EN 1.4301 (AISI 304)
034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
80-250 d=29 mm
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 103 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(.)SF 32, 40, 50, 65 SECTIONAL VIEW 2 Poles
1 SA
/5
32
34
|| — 6
Uuuuuuy
7 200 11 244
MATERIALS TABLE
Ref. Name Material
3SF 3LSF
001 | Pump body EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 | imoeller 32,40,50 EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4407 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR | SIC/SIC/FPM
025 | Drain plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FPM
032 | Key EN 7.4307 (AISI 304) EN 1.4407 (AISI 316)
034 | Impeller nut EN 7.4307 (AISI 304) EN 1.4404 (AISI 316L)
044 | Support protection EN 1.4301 (AISI 304)
072 | Wear ring [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wear ring not for the 65 EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
32-125, 40-125
200 | Screw (pump body) 40-160, 40-200, 50-125, 50-160, Stainless steel A270 class 1SO 3506/1
50-200, 65-125, 65-160, 65-200
244 | Plug 3] \ EN 1.4307 (AISI 304)
[1]= For 65-125/5.5 and 65-125/7.5 only
[2]= For the 32-200, 40-200, 50-160 , 50-200 versions
[3]= For 65-160/15 and 65-200 only
Your Life, our Quality. Worldwide. 104 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LSF 80-160 SECTIONAL VIEW 2 Poles
1 47 32 4 26 N 44
- ‘ | —
& DUDDDDHUDUUUU’(
QN0[ANNNAAY
\‘m /q [ 1iT Il
5] _
— B
{JU&DUUUDDUDU
. I -
_ T, *ﬂ
25 76 78 235 200 244
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.44071 (AISI 316) 034 [ Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 044 | Support protection EN 1.4301 (AISI 304)
004 | Seal housing disc EN 1.4404 (AISI 316L) 075 | Washer
006 [Joint EN1.4404 (AIST 3160 076 | Washer EN 1.4404 (ISl 3161)
007 | Impeller EN 1.4407 (AISI 316) 077 [0O-Ring FPM
011 | Mechanical seal SiC/SiC/FPM 078 [ O-Ring
024 | Filler cap EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class 1SO 3506/1
025 | Drain plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
026 | 0O-Ring FPM 244 | Plug[1] EN 1.4301(AISI 304)
032 |Key EN 1.4407 (AISI 316)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 105 Commercial




3 - 3L SERIES

3LSF 65-250, 80 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

2 Poles

|

34 7 32 4 26 4A 11 3

SA

75 24 77

25 76 /8 42A 235 200 244 6
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) T
003 | Motor support Castiron EN-GJL-200-EN 1561 026 | O-Ring FPM
003A | Adapter ring Cast iron EN-GJL-200-EN 1561 65-250 d=24 mm
004 | Seal housing disc EN 1.4401 (AISI 316) 032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316)
004A | Seal housing disc screw EN 1.4301(AISI 304) 80-250 d=29 mm
EN 1.4404 (AISI 316L) per 22 kW 65250 de24mm
| 65250 d=24 mm EN 1.?;1r6320(_d3u;)l|<ev>§/ steel) 034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
006 { Joint 50200 doga m | EN 14404 (AISI 3161) per 22 kW 80250 d=29mm|
- EN 1.4462 (duplex steel) 042A | Pump spacer Aluminium/galvanised steel (for 80-250/55 only)
80-250 d=29 mm EN 1.4462 (duplex steel) 075 | Washer
007 | Tmpeller EN'1.4407 (AISI 316) 076 | Washer EN'1.4404 (AISI 316L)
077 [O-Ring FPM
011 | Mechanical seal SiC/SiC/FPM 078 | O-Ring
200 | Screw (pump body) Stainless steel A2-70 class 15O 3506/1
024 | Filler cap EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 |[Drain plug EN 1.4404 (AISI 316L) 244 | Plug[1] EN 1.4301(AISI 304)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 106 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3(L)P 32, 40, 50, 65 SECTIONAL VIEW 2 Poles
1 4 26 92 66 89 19 6 20
73
32
34
7/
25 3 200 /2 1 244 42 67 93 33
MATERIALS TABLE
Ref. Name Material
3P 3LP
001 | Pump body EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561
004 | Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft - Part in contact with the liquid Seal housing disc EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 |imoeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4407 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR \ SIC/SiC/FPM
019 | Bearing (pump side)
020 | Bearing (motor side) -
025 | Drain plug EN 1.4407 (AISI 316) / PTFE
026 | O-Ring NBR FPM
032 | Key EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
033 [Key 0
034 | Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
042 | Foot Galvanised steel Fe 37
066 [ Support cover Cast iron EN-GJL-250-EN 1561
067 [ Support cover Cast iron EN-GJL-250-EN 1561
072 | Wear ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Wear ring not for the 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
089 | Seeger ring Carbon steel TC 80
092 | Sealing ring -
093 | Sealing ring -
200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
244 | Plug [2] EN 1.4307 (AISI 304)
[1]= Only for 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions
[2]= For 65-160/15 e 65-200 only
Your Life, our Quality. Worldwide. 107 Commercial




3 - 3L SERIES

3LP 80-160 SECTIONAL VIEW

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(FORMER DIN 24255)

66 92 89 19

5 6 20 67 93

33
=1
D
%,
oy
=i
)
76 11 244
|
42
200
235
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.4401 (AISI 316) 034 [ Impeller nut EN 1.4404 (AISI 316L)
003 | Motor support Cast iron EN-GJL-200-EN 1561 042 | Foot Galvanised Steel
004 | Seal housing disc EN 1.4404 (AISI 316L) 066 | Support cover Cast iron EN-GJL-200-EN 1561
EN 1.4404 (AISI316L ;
006 | Shaft Part in contact with the ||>quid 067 | Support cover Cast iron EN-GJL-200-EN 1561
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
076 [ Washer EN 1.4404 (AISI 316L)
011 | Mechanical seal SiC/SiC/FPM 077 [0O-Ring FPM
078 | O-Ring
079 | Bearing (pump side) 089 | Seeger ring Carbon steel TC 80
020 | Bearing (motor side) - 092 | Sealing ring
024 |Filler cap EN 1.4404 (AISI 316L) 093 | Sealing ring
025 | Drain plug EN 1.4404 (AISI 316L) 200 | Body screw Stainless steel A270 class ISO 3506/1
026 | O-Ring FPM 235 | Washer EN 1.4307(AISI 304)
032 | Key EN 1.4401 (AISI 316) 244 | Plug[1] EN 1.4301(AISI 304)
033 | Key C40

[1]= Not for H and E versions

Your Life, our Quality. Worldwide.

108

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
3LPF 65-250, 80 SECTIONAL VIEW 2 Poles
|
66 89 19 6 20 67 93
33
)
'''''''''''''' 1 " ":9’7
(@)
M 244 3
235 200 42
MATERIALS TABLE
Ref. Name Material Ref. Name Material
001 | Pump body EN 1.44071 (AISI 316) 033 | Key C40
003 | Motor support Cast iron EN-GJL-200-EN 1561 65250 d=24 mm
004 | Seal housing disc EN 1.4401 (AISI 316) 034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
004A | Seal housing disc screw EN 1.4301(AISI 304) 80-250 d=29 mm
006 | Shaft EN 1.4462 (duplex steel) per 30-37 kW | 042 | Foot Galvanised Steel
007 | Impeller EN 1.4407 (AISI316) 066 | Support cover Cast iron EN-GJL-200-EN 1561
067 | Support cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical seal SiC/SIC/FPM 075 | Washer
076 [Washer EN 1.4404 (AISI 316L)
019 | Bearing (pump side) - 077 | O-Ring FPM
020 | Bearing (motor side) - 078 | O-Ring
024 [ Filler cap EN 1.4404 (AISI 316L) 089 | Seegerring Carbon steel TC 80
025 | Drain plug EN 1.4404 (AISI 316L) 092 | Sealing ring -
- 093 | Sealing ring
026 ] O-Ring FPM 200 | Screw (pump body) Stainless steel A270 class ISO 3506/1
65-250 d=24 mm 235 | Washer EN 1.4301 (AISI 304)
032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316) 244 [ Plug[1] EN 1.4301 (AISI 304)
80-250 d=29 mm

[1]= Not for H and E versions

Your Life, our Quality. Worldwide. 109 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(FORMER DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Material
Standard

= L2 1 | Fixed part Carbon Carbon
2 | Rotating part Ceramic Ceramic
3 | Gasket NBR FPM
4 | Frame + spring EN 1.44071 (AISI 316) EN 1.4401 (AISI 316)

D]
Bt

¢d3
#d1
#d2

oo0Y

#d5

SPECIAL MECHANICAL SEALS (on request)

Your Life, our Quality. Worldwide.

Name Material

H version HS version HW version HSW version E version
Fixed Part Carbon SiC Tungsten Carbide Tungsten Carbide Carbon
Rotating Part Ceramic SiC Tungsten Carbide SiC SiC
Elastomers FPM FPM FPM FPM EPDM
Spring AISI 316 AISI 316 AISI 316 AISI 316 AISI 316
Structure/Frame AISI 304 AISI 316 AISI 304 AISI 304 AISI 316

110 Commercial



